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i 2 for ERE AR E4E n! fEHES!
int index[4], n=4; index i 3 ?} g
for (i=0; i<n; i++) 1 3 2 4
index[i] = i+1; 1 3 4 2
for (; index[0]<=n; nextIndex(index, n)) 1 4 2 3
if (isValid(index, n)) 1 4 3 2
printPerm(index, n); 2 1 3 4
------------------------------------------------ 2 1 4 3
int isValid(int index[], int n){ void nextIndex(int mdex[] int n){
int i, J, . for (inti=n-1; i>0; i--)
for (| v i<n-1; i++) if (index[i]<n)
for (J i+1; j<n; j++) { index[i]++; return; }
if (mdeX[l] IndeX[J]) else
return 0; index[i] = 1;
return 1; 7 index[0]++;

} } 6



e A PR P BB T

ivot
data ----P7°L,
0 1 3 | 2
data[0] data[m-1]

Exhaustive search
(depth first search)

~ o
~o
—~—

o oo QOO OOO0o OO OO0o

—

w W

)L A2 O OO0 000

L~ O0OO00O0OW’

WW: O N—==;

0000

WiN o OWN OCWN--~0O0OW OWwWnN-~O




e A PR P BB T

data ------- >
01 int main() { Sl I I
02 int data[10]; data[0] \ data[m-1]
03 countUp(4, data, 4, 0); \\\
04 return O;
05} SRR
06 gbase g# digits \\\
07 void countUp(int n, int data[], int m, int pivot) \{\\\
08 if (pivot>=m) Ctherunning T
09 print(data, m); digit
10 else
11 for (data[pivot]=0; data[pivot]<n; data[pivot]++)
12 countUp(n, data, m, pivot+1);
13 }

o oo QOO OOO0o OO OO0o

—

w W

)L A2 O OO0 000

L~ O0OO00O0OW’

WW: O N—==;

0000

WiN o OWN OCWN--~0O0OW OWwWnN-~O




N

BRI E

2

(<))
[
W
=

W
)

> THEEBE Y] int board[9][9];
wHebk 0 DU BRI EERSA (2141017 12

2 4
5 3 9 7
7 4
> Aii—HHY index[] FEA! F—{E 3|7 5/0(4]2
TLER A e E e e Y, [E2 8 7
1|14 78

A board[9][9] HE —LLE[E

TEHY, /R ] DAHEE e BV Ee Ry B8, E i+ Al DUR R pkE s £e 8, 4

a] DL —4E 28 fE51): int position[81]; 2¢& int row[81], col[81];
iInt nPos=0;

sLek LA board[9][9] [ 51 HRIRELA B & F T HY

#410,1,4,7,8,9,10,12, 13, 15, 16, 17, ....




Vj_l.'. H= +EH ==
EXl-Smits

v' - 4

> HEAR 58 5 RS 0
B - B AT R AR L R R
g

[

o



\\I_’ /‘__. L :'-’-=l~
/ék,,zfijzix%?
> FLR PN A A e gy T 2 AR S A HEY Y Ve
Bk o (B2 DIHEE LB DL R R
e

6|1
3

W
=

0

N
XX X X X)X

[

o



Vj_l.'. H= +EH ==
‘J X TGS =5

- - T~ i

> HER 00835 T T A 5 TR 5
B » B AT DU S AT DL R PR
T

7161 3|4
3 8

5| 4

5 <><>>1<

7 X X

3 X X

X X

X X

x @

8

9

[

o



Vj_l.'. H= +EH ==
‘J X TGS =5

- - T~ i

> HER 00835 T T A 5 TR 5
B » B AT DU S AT DL R PR
T

7|16|1|5|3|4
3 8

5| 4

5 CX)X X

7 X X X

3 X X X

x x &

X X X

x @ x

8 X

9 9

[

o



=

NS /r__. L:-
EEE =

- - T~ i

> HER 00835 T T A 5 TR 5
B » B AT DU S AT DL R PR
T

7|16|1|5|3|4
3 8
5| 4
5 CX)X X X
7 X X X X
3 X X X X
x X (B X
X X X X
x @ x X
8 X ©
9 9

[

o



\)j—[:

'—b

——

LB

-

[ o L:
T

<7

4

> FA R AR T A S MR RS Y

()R X X X X X

B2 B2 n DARRE R AT DA PRH
AP T
2|76 3|49
3
5|4
5 X X X
; @ =z X
X X X
3 X X X
x x (5
X X X
x @ %
8 8§ X
9 9 9

(©)8 3 X M X X b4 X

[

o



\)j—[:

LB

-

'—b

——

[ o L:
T

<7

4

> FA R AR T A S MR RS Y
B BE R DAFRE R RVEE DU R

AP |
2716 3/4|2]|9
1 |3
5| 4
5 X X X
- @ =z X
X X X
3 X X X
x x &
X X X
x @ x
8 8 X
9 9 9

()R X X X X X

(©)8 3 X M X X b4 X

© 03 34 3 M X M bi(R)

[

o



\)j—[:

LB

-

'—b

——

[ o L:
T

<7

4

> FA R AR T A S MR RS Y
B BE R DAFRE R RVEE DU R

T

2

7

6

W
=

1

9

3

5

4

© 00 XX X X X)X

uooo@gmm;hqumx

© 3 M X(UDX X b3 K

()R X X X X X

(©)8 3 X M X X b4 X

6 1 3
3 a
h 4 T
2
B 3 9
7 4
3 T 5
a
1 4 T
@ X
X X
% X
X X
)¢ X
X X
- ¢ X
°s ©



il

~

T

— | —2 ~ YN AN ‘/‘\ ﬁ\l

> A — IRV EUE value BREEZR e T 5 = {E R &
- BT A FHEHEREEF

for (i=0; i<9; i++)
if (value == board[i][icol]) return O;
- B4 R EREF
for (i=0; i<9; i++)
if (value == board[irow][i]) return O;
— E—li 3x3 HYLE IS A & LR EHYEF

for (i=irow/3*3; i<irow/3*3+3; i++)
for (j=icol/3*3; j<icol/3*3+3; j++)
if (value == board[i][j]) return O;
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iI=0;
while (1) {
ip=1;

while (index[i]<9) {
index[i]++;
if (valid(index, i)) { i++; break; }

}
}

if (ip==i) index[i-=]=0;

void nextIndex(int index[], int n) {
for (int i=n-1; i>0; i--)
if (index[i]<n-1)
{ index]i]++; return; }
else
index]i] = O;
index[0]++;
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data[0] =~ data[m-1]
void countUp(int n, int data[], int m, int pivot) {
if (pivot>=m)
print(data, m);
else

for (data[pivot]=0; data[pivot]<n; data[pivot]++)
countUp(n, data, m, pivot+1);

void sudoku(int data[], int m, int pivot) { sudoku(data, m, 0);

if (pivot>=m)
print(data, m);
else
for (data[pivot]=1; data[pivot]<=9; data[pivot]++)
if (valid(data, pivot))
sudoku(data, m, pivot+1);
data[pivot]=0;
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#include <stdio.h> /* printf */
#include <time.h> /* clock_t, clock(), CLOCKS PER_SEC, CLK_TCK */
int main(void) {

int i =60000000;

clock_t start, finish;

double duration;

o
S
o)
@

printf( "Time to d
start = clock();
while( i--) ;
finish = clock(); [* 8iF CLK_TCK */
duration = (double)(finish - start) / CLOCKS_PER_SEC;
printf( "%2.1f seconds\n", duration );

return O;

1L

Time to do 60000000 empty loops is 0.2810 seconds

> Devcpp 5.x & H #EIHAZ A TS (FP)
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. 4x4, 6x6, 8x8, ..., nxn

The values in each cell are from the set {1, 2, ..., n}
No repetition is allowed in each row and each column

In addition, the values in each non-regular subblocks should
satisfy the labeled arithmetic constraints, e.g.

13+ is satisfied by 2+5+6=13, 1- is satisfied by 4-3=1,
36" is satisfied by 6*6*1=36, and 3/ is satisfied by 6/2=3

13+ 1- 5- 13+ 1-

10* 12+ 2% 10* 12+

36* 10+ 36* 10+
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1. Sudoku Dragon http://www.sudokudragon.com/sudokuvariants.htm

2. World Puzzle Federation
http://www.worldpuzzle.org/championships/types-of-puzzies/wsc/

3. Sudoku Splash Zone

http://www.sudokusplashzone.com/sudoku-variations/sudoku-variation-select.php

4. Hubpages
http://somethingrandom.hubpages.com/hub/X-Different-Types-of-Sudoku-That-
You-Should-Try
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